<b>OPTION 1</b>			Mans	sfield Oil Com Gair	ıpany Of Gai ıesville, GA	nesville, Inc.		A.C. & T. Company, Inc. Hagerstown, MD			
		Α	В	С	D	E	В	С	D	E	
	Item	OPIS Newsletter Price as of 09-07-20	Bidder +/- Factor	OPIS Price + Bidder Factor (A + B) Per Gallon	Approx. Gallon Usage	Net Delivered (C X D)	Bidder +/- Factor	OPIS Price + Bidder Factor (A + B) Per Gallon	Approx. Gallon Usage	Net Delivered (C X D)	
	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Tank-wagon	\$1.2965	No Bid	No Bid	61,887	No Bid	\$0.2340	\$1.5305	61,887	\$94,718.05	
Sec. I	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Tank-wagon	\$1.4195	No Bid	No Bid	8,500	No Bid	\$0.2340	\$1.6535	8,500	\$14,054.75	
	Total Sum Gasoline Tanl Deliveries as Described in	0	No Bid				\$108,772.80				
	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Transport	\$1.2965	\$0.0263	\$1.3228	181,000	\$239,426.80 *	\$0.0750	\$1.3715	181,000	\$248,241.50	
Sec. II	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Transport	\$1.4195	\$0.0021	\$1.4216	194,926	\$277,106.80	\$0.0750	\$1.4945	194,926	\$291,316.91	
	Total Sum Gasoline Transport as Described in Section II		\$516,533.60 *			\$539,558.41					
Sec. III	Total Sum Diesel Tank-wagon Deliveries as Described in Section III No. 2-D Diesel Ultra Low Sulfur	\$1.2117	No Bid	No Bid	62,675	No Bid	\$0.2240	\$1.4357	62,675	\$89,982.50	
Sec. IV	Total Sum Diesel Transport Deliveries as Described in Section IV No. 2-D Diesel Ultra Low Sulfur	\$1.2117	\$0.0372	\$1.2489	627,213	\$783,326.32 *	\$0.0775	\$1.2892	627,213	\$808,603.00	

<b>OPTION 1</b>	Mansfield Oil Company Of Gainesville, Inc. Gainesville, GA	A.C. & T. Company, Inc. Hagerstown, MD
Winter Chemical Additive Protection (cost per gallon):	\$0.0250	Tankwagon At Rack: \$.0300 / Gal Transport: \$.0500 / Gal
Winter Chemical Additive Protection Product Name:	Cold Pro Winter Additive	:CFI 1902 :137 ULSW Diesel Treat 2000
Manufacturer's Name:	Innospec	Innospec Schaeffer Manufacturing

	<b>OPTION 2</b>			Mansfield Oil Company Of Gainesville, Inc. Gainesville, GA			A.C. & T. Company, Inc. Hagerstown, MD			
		Α	В	С	D	Ε	В	С	D	E
	Item	OPIS Newsletter Price as of 09-07-20	Bidder +/- Factor	OPIS Price + Bidder Factor (A + B) Per Gallon	Approx. Gallon Usage	Net Delivered (C X D)	Bidder +/- Factor	OPIS Price + Bidder Factor (A + B) Per Gallon	Approx. Gallon Usage	Net Delivered (C X D)
	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Tank-wagon	\$1.2965	No Bid	No Bid	61,887	No Bid	\$0.2300	\$1.5265	61,887	\$94,470.51
Sec. I	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Tank-wagon	\$1.4195	No Bid	No Bid	8,500	No Bid	\$0.2300	\$1.6495	8,500	\$14,020.75
	Total Sum Gasoline Tanl Deliveries as Described in	0	No Bid			108,491.26				
	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Transport	\$1.2965	No Bid	No Bid	181,000	No Bid	\$0.0710	\$1.3675	181,000	\$247,517.50
Sec. II	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Transport	\$1.4195	No Bid	No Bid	194,926	No Bid	\$0.0710	\$1.4905	194,926	\$290,537.20
	Total Sum Gasoline Tran Described in Sectior	-			No Bid			-	538,054.70	
III	Total Sum Diesel Tank-wagon Deliveries as Described in Section III No. 2-D Diesel Ultra Low Sulfur	\$1.2117	No Bid	No Bid	62,675	No Bid	\$0.2200	\$1.4317	62,675	\$89,731.80
Sec.	Total Sum Diesel Transport Deliveries as Described in Section IV No. 2-D Diesel Ultra Low Sulfur	\$1.2117	No Bid	No Bid	627,213	No Bid	\$0.0735	\$1.2852	627,213	\$806,094.15
	Total Sum Bid of All Sect (Sections I-IV)							1,54	2,371.9036	*

<b>OPTION 2</b>	Mansfield Oil Company Of Gainesville, Inc. Gainesville, GA	A.C. & T. Company, Inc. Hagerstown, MD
Winter Chemical Additive Protection (cost per gallon):	No Bid for Option #2	Tankwagon At Rack: \$.0300 / Gal Transport: \$.0500 / Gal
Winter Chemical Additive Protection Product Name:	No Bid for Option #2	:CFI 1902 :137 ULSW Diesel Treat 2000
Manufacturer's Name:	No Bid for Option #2	Innospec Schaeffer Manufacturing

\*Corrected Calculations Based on Unit Pricing

#### NOTES:

Mansfield Oil Co.

Option 1 Total Sum Bid of Gasoline Transport = \$516,533.60\* Mansfield Oil Co. Option 1 Total All Sections = \$1,299,859.92\*

#### NOTES:

A.C. & T. Company, Inc. \*Total Sum Bid was rounded up by AC&T

<b>OPTION 1</b>			Petroleum Traders Corporation Fort Wayne, IN				PAPCO, Inc. Aston, PA			
		Α	В	С	D	Е	В	С	D	Ε
	Item	OPIS Newsletter Price as of 09-07-20	Bidder +/- Factor	OPIS Price + Bidder Factor (A + B) Per Gallon	Approx. Gallon Usage	Net Delivered (C X D)	Bidder +/- Factor	OPIS Price + Bidder Factor (A + B) Per Gallon	Approx. Gallon Usage	Net Delivered (C X D)
Sec. I	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Tank-wagon	\$1.2965	No Bid	No Bid	61,887	No Bid	No Bid	No Bid	61,887	No Bid
	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Tank-wagon	\$1.4195	No Bid	No Bid	8,500	No Bid	No Bid	No Bid	8,500	No Bid
	Total Sum Gasoline Tanl Deliveries as Described in	0			No Bid				No Bid	
	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Transport	\$1.2965	-\$0.0114	\$1.2851	181,000	\$232,603.10	\$0.0092	\$1.3057	181,000	\$236,331.70
Sec. II	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Transport	\$1.4195	-\$0.0194	\$1.4001	194,926	\$272,915.89	-\$0.0189	\$1.4006	194,926	\$273,013.36
	Total Sum Gasoline Tran Described in Sectior	-		\$5	05,518.99			\$5	09,345.06	
Ш	Total Sum Diesel Tank-wagon Deliveries as Described in Section III No. 2-D Diesel Ultra Low Sulfur	\$1.2117	No Bid	No Bid	62,675	No Bid	No Bid	No Bid	62,675	No Bid
	Total Sum Diesel Transport Deliveries as Described in Section IV No. 2-D Diesel Ultra Low Sulfur	\$1.2117	\$0.0443	\$1.2560	627,213	\$787,779.53	\$0.0443	\$2.2560	627,213	\$1,414,992.53

<b>OPTION 1</b>	Petroleum Traders Corporation Fort Wayne, IN	PAPCO, Inc. Aston, PA
Vinter Chemical Additive Protection \$0.0300 cost per gallon):		\$0.0275
Winter Chemical Additive Protection Product Name:	Diesel Treat 2000 Ultra Low Sulfur Winter Premium (#137ULSW)	Diesel Guard Anti Gel Deicer (AGPW)
Manufacturer's Name:	Schaeffer's	Valv Tect

	<b>OPTION 2</b>				raders Corp Wayne, IN	oration	PAPCO, Inc. Aston, PA			
	Item	A OPIS Newsletter Price as of 09-07-20	B Bidder +/- Factor	C OPIS Price + Bidder Factor (A + B) Per Gallon	D Approx. Gallon Usage	E Net Delivered (C X D)	B Bidder +/- Factor	C OPIS Price + Bidder Factor (A + B) Per Gallon	D Approx. Gallon Usage	E Net Delivered (C X D)
	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Tank-wagon	\$1.2965	\$0.3500	\$1.6465	61,887	\$101,896.95	No Bid	No Bid	61,887	No Bid
Sec. I	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Tank-wagon	\$1.4195	\$0.3500	\$1.7695	8,500	\$15,040.75	No Bid	No Bid	8,500	No Bid
	Total Sum Gasoline Tank-waş Deliveries as Described in Sec	-	116,937.70			No Bid				
	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Transport	\$1.2965	\$0.0441	\$1.3406	181,000	\$242,648.60	No Bid	No Bid	181,000	No Bid
Sec. II	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Transport	\$1.4195	\$0.0441	\$1.4636	194,926	\$285,293.69	No Bid	No Bid	194,926	No Bid
	Total Sum Gasoline Transpor Described in Section II	rt as		52	27,942.29				No Bid	
	Total Sum Diesel Tank-wagon Deliveries as Described in Section III No. 2-D Diesel Ultra Low Sulfur	\$1.2117	\$0.5000	\$1.7117	62,675	\$107,280.80	No Bid	No Bid	62,675	No Bid
	Total Sum Diesel Transport Deliveries as Described in Section IV No. 2-D Diesel Ultra Low Sulfur	\$1.2117	\$0.0640	\$1.2757	627,213	\$800,135.62	No Bid	No Bid	627,213	No Bid
	Total Sum Bid of All Section Totals (Sections I-IV) \$1,552,296.41						No Bid			

<b>OPTION 2</b>	Petroleum Traders Corporation Fort Wayne, IN	PAPCO, Inc. Aston, PA
Winter Chemical Additive Protection (cost per gallon):	\$0.0300	No Bid
Winter Chemical Additive Protection Product Name:	Diesel Treat 2000 Ultra Low Sulfur Winter Premium (#137ULSW)	No Bid
Manufacturer's Name:	Schaeffer's	No Bid

	OPTION	1			Oil Industrie vannah, GA	es, Inc.	
		Α	B C		D	E	
	Item	OPIS Newsletter Price as of 09-07-20	Bidder +/- Factor	OPIS Price + Bidder Factor (A + B) Per Gallon	Approx. Gallon Usage	Net Delivered (C X D)	
Sec. I	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Tank-wagon	\$1.2965	No Bid	No Bid	61,887	No Bid	
	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Tank-wagon	\$1.4195	No Bid	No Bid	8,500	No Bid	
	Total Sum Gasoline Tanl Deliveries as Described in				No Bid		
	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Transport	\$1.2965	\$0.0411	\$1.3376	181,000	\$242,105.6000	*
Sec. II	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Transport	\$1.4195	\$0.0317	\$1.4512	194,926	\$282,876.6112	*
	Total Sum Gasoline Tran Described in Section		\$52	4,982.2112		*	
Sec. III	Total Sum Diesel Tank-wagon Deliveries as Described in Section III No. 2-D Diesel Ultra Low Sulfur	\$1.2117	No Bid	No Bid	62,675	No Bid	
Sec. IV	Total Sum Diesel Transport Deliveries as Described in Section IV No. 2-D Diesel Ultra Low Sulfur	\$1.2117	\$0.0643	\$1.2760	627,213	\$800,323.7880	*

<b>OPTION 1</b>	Colonial Oil Industries, Inc. Savannah, GA
Winter Chemical Additive Protection (cost per gallon):	\$0.0300
Winter Chemical Additive Protection Product Name:	Diesel Treet 2000
Manufacturer's Name:	Schaffer Manufacturing

	OPTION	2			Oil Industrie vannah, GA	es, Inc.
		Α	В	C OPIS Price	D	Е
	Item	OPIS Newsletter Price as of 09-07-20	Bidder +/- Factor	+ Bidder Factor (A + B) Per Gallon	Approx. Gallon Usage	Net Delivered (C X D)
Sec.	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Tank-wagon	\$1.2965	No Bid	No Bid	61,887	No Bid
Ι	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Tank-wagon	\$1.4195	No Bid	No Bid	8,500	No Bid
	Total Sum Gasoline Tank-waş Deliveries as Described in Sec	No Bid				
Sec.	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Transport	\$1.2965	No Bid	No Bid	181,000	No Bid
Π	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Transport	\$1.4195	No Bid	No Bid	194,926	No Bid
	Total Sum Gasoline Transpor Described in Section II	t as			No Bid	
	Total Sum Diesel Tank-wagon Deliveries as Described in Section III No. 2-D Diesel Ultra Low Sulfur	\$1.2117	No Bid	No Bid	62,675	No Bid
Sec. IV	Total Sum Diesel Transport Deliveries as Described in Section IV No. 2-D Diesel Ultra Low Sulfur	\$1.2117	No Bid	No Bid	627,213	No Bid
	Total Sum Bid of All Secti (Sections I-IV)	on Totals			No Bid	

OPTION 2	Colonial Oil Industries, Inc. Savannah, GA
Winter Chemical Additive Protection (cost per gallon):	No Bid
Winter Chemical Additive Protection Product Name:	No Bid
Manufacturer's Name:	No Bid

\*Corrected Calculations Based on Unit Pricing

<u>NOTES:</u> Colonial Oil Industries, Inc.

\* All prices with a star Colonial rounded price up